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COMMERCE
(Honours Core/Regular)

Paper : COM-—HC—4016/COM—RC—4_026
( Cost Accounting )
Full Marks : 80

Time : Three hours

o The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

: 1x10=10

AUt Srpif wote fraicaies es fo
(a) + Factory Overheads = Factory
Cost (Fill in the blank)
‘ TR T = I G |
(3Tl 212 799 F1)
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(b) In case of material control, full form of | (d) In which of the following plans, time

ABC is '. (Fill in the blank) | wages are not guaranted ?
mé?ﬁﬂa%cw ABC 3 sjefeiol 2T A SO ﬁﬂ%mﬁm @GS T ACATF TGRS
1 9
i | ) Hal
() Which of the following is not'a reason () Halsey
for abnormal loss : : 2[h
e Rl (T SRR I R | (i) Rowan
(i) Defective machinery g SIEICE
o7l Tgelfe ' . (iii) Taylor
(i) Voltage ﬂuct'uation_l.-,f_——;;af.. (BT

. [5 S ATY
(). Accident .= \& (Select the correct answer)

7ot (135 Cewcht AR TG
(iv) Nature of raw material ndirect expenses are also known as
S : B (Fill in the blank)
(B! AR &Plo , ‘
| (Select the correct answer) AL UG W_\o;;;ﬁ ks
(I S a1k Bheay) | el
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(f)  In Contract costing most of the costs | . () Depreciation is a semi-variable

are direct. , exXpense. ;
(State whether the statement 126 ~ (State whether the statement
_ is true or false) | ' | is true or false)
13t 7o wiftres 7 oforF o7 | SR (R WA 492
: (SBT3 (7 wprey forsll) | (G179 (] &7y f74If)
(99 Under non-integrated accounting | o Answer the following questions : 2x5=10
ﬁm, system, account 1s prepared to _ weTe Wyl eEERE Tes T
R \omplete double entry.
=) (Fill in the blank) | (@) What.is meant by Store Ledger ?
7S fEp1oiael simfoe 7w afkifE Tl sa9 AT Ao S 2
Ll i ﬁﬂ"f IEe 1 27 | - (b) What is meant by process costing ?
(3T 31 27 ) férat <5 Rl Mo [
(h) Cost Accounting is-a method of (c) What is meant by job costing ?

cost.

31 7 f2pieieRd A 52
(Fill in the blank with appropriate word) ' '
TeoAe 7 f2bloRad (FmieT [T @l
7S | (Co& 97T <eTl 12 959 1)

at is meant by integrated

() What is idle time ? e) State the meaning of time study in

UG I it e . | _ labour costing.
G AT AT SR o GrEe 4 |
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3. Answer any four of the following questions': Wt Opening stock of finished goods (300
¥ R0 x4=208 units) at ¥ 3,00,000 and closing stock
et WAl eraIRe RITpieen i Teq ferdi: | of finished goods is 100 units. 1400

units sold at ¥ 4,000 per unit.
(@) The following information has been |

obtained from the cost records of a | Sief Tgo =4 300 (Ive 3,00,000 ol
factory : . ! Wi AN TGO AP 100 A5 | AfSTH! Cole
QHW‘@WWW-@W@W | 4,000 GHITF 1400 ¢l Rl =1 =71

Prepare cost statement showing cost of
production per unit and profit.

&S (alloa TeAlite A4 T oI e (R
@ 9 [RYfe age 1|

Rs. 15,00,000

Rs. 10,00,000_ | (b) The particulars of Material ‘A’ is given
; below : .

A’ ANER [ReRe were Wzl 2

Factory expenses at 25% of prime cost

' ; | Normal usage 200 units per week
I A6 Y G 25%
; AT 2 TS 200
Administrative expenses at 20% of Qi

factozy cost.

PIGIeTES W P T 20%

100 units per week

m 39 ofs QRS

Selling and dlstnbutlo
n expenses at
100 (A

X 320 per unit,

ﬁwﬁﬁ%sgowwcwl
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S43¢ : 300 units per week (c) Explain the following: 2Yo+22=5

each
T ; woTo AN T <
SRR : arers Ry e s 300 L b
: C’ﬁ ' . !";-"i',‘_-'\(i} Rowan Premium Bonus Plan
o . ; |/, X 7 "‘/;1{\ -
 Re-ordering quantity : 600 units ' [ il Y A GURIR TfER @b e
W WCE RS : 600 (ol N ;' |
_ |\ JEAi) Halsey Premium Bonus Plan
Re-ordering period ¢ 3 to5 weeks Ny :"_;:/-‘;fnf,,- | oo R S
T T T . 3 o | o |
N : (d) What is meant by overheads ? Mention
/ \La :
v culate the following : any three features of fixed overheads.
fefer < _ -, S IR Wi 2 2R Toifke U [
Re-ordering level i fofor CRfFIBy Buasl < 2+3=5
?-Fﬁf YGRT W : ' (e) How is the profit of an incomplete
() Minimum stock level contract ascertained ? Explain.
T TG Af T - | o] I A TS RTACS o1l I A 2
(IU-) : M&leum stock level _ ;
A T sty w () Mention five objectives of cost
) _ accounting.
S Sestie A ROIFER #Aish! Sreedy ST T
? GO Sy W ;
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ol < ST W R S

T ST T STy
Crad 41 | TS R @bt et

. Cash received o

n account of 31st
h, 2025 amounted to 3 4,80,000
of the work certified. Of the
als charged to contract,

Marc
being 80%
Plant and Materi

(e) A firm of buildi
uildin
trade on 1st Apri? (;C;I;EraCtOrS B§gan to Plant which cost = 15.000 and Materials
the expenditure’ on t i e ves which cost: ¥ 8,000 were Cost. On 31st
‘ 2 15,00,000 : contract for March; 2025 Plant costing T 30,000 was
1 April, 2024 © _ | returned to stores. The cost of work
QAT , R omR AISRID] | done but uncertified was 40,000 and
- 1]\3:“§ ¢ } a . .
15’00’000 i %5§Q£I \CI=10) ‘%ma} | mate.rlals costing Z 8,600 were 1n hand
= - AI5Z T e on site. :
gt ‘_ Charge 10% depreciation on Plant and
Material issued o Coln ay 1' - prepare Contract Account.
’ X :44,00 ,‘:
o4 %3y ey Rl 316 2025 © 80% T eteeid el ReAdiTs
oy | 4,80,0003%3@@&%&@5@1%&51%
issued s, 3 TS 15,000 B RIGEIIICACISS
e Ry ,30,000 8,000 53 TT s{elj) F(® 28 | 31 W6, 2025,
Y 30,000%@%2@%@%@&%@1
g€s incurred 40,000 TR SE#E 2 o i 8,600
TG 21,18,000 et 2 A AR R FF A
|
Othe
I €Xpenses incurreq 2130 OOO TgaAlfed eoTo 100/01_2@“&?{\543@33 A <[
I 3455 ik Spiot e T /B LN |
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T . . -
() The following is the summary of

tran i 1
sactions obtained from ‘the costi
ng .

records of a company :

Wﬁmmﬂw{awwm@wﬁaw

fRoteieet R =it et
Direct Wages (Cash) 265,000
AT IGF (Fom) ,
Indirect Wages (Cash) 20,00
,000
AT TG[ Fow

Purchases (Cash
&I (F5%)

T (JIRF)

Stores issyed against
Production order

2 1,90,000

BO4FA 0234

SO 1 SOES t sdy Ry
i .
ork expenseg (Cash) 350,000
PR <5 Gy ,
14

@)

BO4FA 0234

Work expenses:

allocated to jobs 7 80,000
e T o A T
Administrative eXpenses Z 55,000
Administrétive eXpEnses X
allocated to jobs % 54,000
<o TSR 1 S 4
Finished goods transfered :

g 4,50,000¢

to warehouse

You are required to journalise the above
transactions under integral accounting |

system.
@97 2] ERTACER IS R ~Foo
el elff®

What is labour turnover ?. What are
s causes of labour turnover ?

variou
3+7=10

Explain in brief.




(h) Briefly describe the need for and
procedure. for integration of Cost
Accounting and Financial Accounting.

9+5=10
Tl 531 o1l S RSl Bntees Azes
G DR w@f@iﬂﬁﬁftﬁﬁﬁﬁg@a@wn
AR R
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